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defi@pushi(nosintmnit:aen i Nne:
if modif[no] == -1:
return;

tree[no] = modif[no]
STS T (] S 1= 7= §)
modif[2 * no + 1] = modif[2 * no + 2] = modif[no]

modif[no] = -1;
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push(no, nl, nr)

if 1 <= nl and nr <=
modif[no] = val
return

if nr <=1
return

mid = (nre=" RN/ /2
assign(2 no < 1. mil, moiel, I, 55, WeEdl)
assign(2 e <& 2, Melel, hee; 1L, 17, Well)

tree[no] -1

ene @) i [[2 < 0 & i, 2 ¥ e ¢ 28
child_max = modif[ch] if (modif[ch] != -1) else tree[ch]
tree[no] = max(tree[no], child_max);
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def find(root: Union[Node,
if root is None:
return False

if root.key == key:

return True # or return root 1lue

if key < root.key:

return find(root.left, key)
else:
return find(root.right, key)
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def insert(root: Union[Node, None], newnode: Node) -> Node:

if root is None:
return’ newnode

if key < root.key:

root.left = insert(root.left, newnode)
else:

root.right = insert(root.right, newnode)
return root'
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ief height(v: Union[Node, None]):
if v is None:
return 0
return v.height

def avl_insert(root: Union[Node, None], newnode: Node) -> Node:
'Lf root is None:
return newnode

'if key < root.key:
broot.left = avl_insert(root.left, newnode)
root.height = 1 + max(height(root.left), height(root.right)) # r

if height(root.left) == height(root.ri
root = do_needed_rotation(root) #

elisel
# aHanorn4yHo BCTaBKe B /eB
pass

'return root







